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Worksheet 22 (Finance 2): Simple and Compound Interest
Group names: SOl%ﬁMS

Recall:
P = principal / starting amount | 7 = annual interest rate (APR)
I = interest n = number of compounding periods per year
A = final amount t = number of years

‘Simple Interest‘ ‘Compound Interest‘
A=P(1+rt) A=P(1+ L)

For the following problems,
(i) Identify the value for each variable and which formula you should use
(i) use a spreadsheet or a calculator to compute the quantities.
For each quantity, carefully write what you need to compute along with the answer.

To be efficient, you may want to write the following spreadsheet formula for compound interest
(you would put in the correct numbers for each problem where it says [enter number]). You can
fill down to compute A for each problem.

F2 v =B2*(1+C2/D2)~(D2*E2).
A B C D E F G
1 problem P r n t A
z jorier#]  Tenier#] __ Tlerier#] __ Tenier#] | Jzioe (LeCA/pn  (07%E2)]

Example: Your uncle gives you a simple interest loan of $500 for one year, at 4% annual inter-
est.

1. How much interest do you owe?

2. What is the total amount you will owe him at the end of the year?

Answer:

This is a simple interest problem. P = 500, r = 0.04, ¢t = 1.
(a) Total interest: I = Prt =500 % 0.04 x 1 = $20

(b) Final amount: A = 500(1 + (0.04)/1(1)) = $520

1. You borrowed $1500 from a relative.

(a) Suppose she charged you 5% APR, compounded monthly. If you paid her back 5 years
later, how much money did you give her?

problem P r n year compound intere simple interest  difference
#1 1500 0.05 12 5 $1,925.04 $1,875.00 $50.04

Poud $1925.0¢

(b) In the above situation, how much more interest did you pay than if she had charged
you simple interest for 5 years?

'])'\K(r(nu 1S §s0. 0.
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2. You got a bonus of $7,500 and you want to start a college fund for your child. You find an
account paying 9.75% APR compounded quarterly. If your child just turned two years old,
how much will you have when they turn 187 How much of that account balance is interest?

problem P r n year compound interest simple interest  difference total interest
#2 7500 0.0975 4 16 $35,029.62 $27,529.62

To tornpele inkereat  fakie * Conapond tufeest - “principal”
Yow whll hawt £ 25019 olun MV‘W/\ 1£.

3. Calculate how much you would have in the previous problem if it was compounded daily
instead of quarterly. F

problem P r n year compound interest simple interest  difference total interest
3 #2 7500 0.0975 4 16 $35,029.62 = $27,529.62
4 #3 7500 0.0975 365 16 $35,683.72 $654.11

&MW Fe-F3 4 gt o1l whice is the addihsmof
inko st e Opounds ¥l dﬁu-(.«d vs. %m‘k/(a
4. If you are considering a credit card with an APR of 27.49%, compounded daily, what annual

rate are you effectively paying? (To determine this, compute the total interest I you paid
for one year, and then compute /P and convert it into a percentage.)

problem P r n year compound interest

#4 1 0.2749 365 1 6132
We ended wp p 40,32 ovtr fre year o &, P
o Uftdive rode § 32% - Yikes!

5. How much would you need to deposit today to have one million dollars if you can find an
account that pays 10% interest, compounded daily, for 50 years?

Note that if A= P(1+ £)™ then by algebra, P = (Hfé)m.

problem A r n t P
#5 1000000 0.1 365 50 $6,742.56
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6. For this problem, we want to compare simple interest to compound interest over time, in a

graph.

Scenario: You put $1000 on a credit card, which charges 20.4% APR, compounded daily.
Suppose this is an unrealistic credit card that does not have monthly minimum payments
(we will talk about how to handle those later).

(a) Make a new spreadsheet with spaces for P, r, n, and ¢ (which we will label “years”).
Make columns for compound interest and simple interest. I am showing you the formula
for compound interest in the screenshot; you will need to modify it to enter simple

interest.
E2 v | fx =$A$2%(1+$B$2/$C$2) ~ ($C$2+D2)
A B c D E F
1 P r n year compound interest  simple interest
2 1000 0.204 365 1 I 1 226.228272|' 1204

(b) Fill down the “year” column by typing in 1 and 2, selecting both, and filling down until
you reach 10 years. Then fill down the compound interest and simple interest columns.

(c) Select the entries in the Compound Interest and Simple Interest columns, go to the
Insert column, select Chart.

ELF11  ~ | & compound interest

A B c D E F
1P r n year [compound interest |simple interest
2 1000 0.204 365 1 $1,226.23 $1,204.00
3 2 $1,503.64 $1,408.00
4 3 $1,843.80 $1,612.00
5 4 $2,260.92 $1,816.00
5 5 $2,772.40 $2,020.00
T 3 $3,399.60 $2,224.00
8 7 $4,168.69 $2,428.00
9 8 $5,111.76 $2,632.00
10 9 $6,268.19 $2,836.00
1 10 $7,686.23 $3,040.00

E Untitled spreadsheet ¥ &

File Edit View Insert Format Data Tools Extensions Help

Q Menus o o O Cells > Defa.. ~ | — 4

FN ~ | fx compol & Rows "
A t [ Columns > 5

1P r interest | simple interest
2 1000 D3 Sheet Shift+F11 22623 $1,204.00
3 150364 $1,408.00
4 @ Tables 1,843.80 $1,612.00
s 2,260.92 $1,816.00
s 2,772.40 $2,020.00
7 B Timeline CED 339960 $2,224.00
8 416869  $2428.00
9 [ Chart $5,111.76 $2,632.00
10 i3 Pivot table 626819 $2,836.00
" 768623 $3,040.00
by M taann . A

(d) Move the chart so that you can see the chart and the data, and experiment with what
happens to the chart if you change the number of compounding periods, or the interest

rate. What do you notice?

P r n year compound interest  simple interest

1000 0.204 365 1 $1,226.23 $1,204.00
2 $1,503.64 $1,408.00

3 $1,843.80 $1,612.00

4 $2,260.92 $1,816.00

5 $2,772.40 $2,020.00

6 $3,399.60 $2,224.00

7 $4,168.69 $2,428.00

8 $5,111.76 $2,632.00

9 $6,268.19 $2,836.00

10 $7,686.23 $3,040.00

(e) How much do you gwe in interest at the

Simple interest: 2 Oc\to' 00+

Compound interest: $ bb&b-2% -

compound interest and simple interest
B compound interest [l simple interest

$8,000.00

$6,000.00

$4,000.00

$2,000.00

$0.00

end of 10 years?

3040. 00 — 000
708623 — (000
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7. Modify the previous question to make a chart that shows the difference in interest if you
compound $1000 daily versus annually at 6% annual interest rate for 100 years, looking at
values every 10 years. You will need to have two different values for n and two different

compound interest columns.

What do you notice?

r n1 n2 year

daily compoundi yearly compounding

1000 0.06 365 1 1 $1,061.83
10' $1,822.03
20 $3,319.79
30 $6,048.75
40 $11,021.00
50 $20,080.59
60 $36,587.41
70 $66,663.32
80 $121,462.49
90 $221,308.18

100

$403,229.91

$1,060.00
$1,790.85
$3,207.14
$5,743.49
$10,285.72
$18,420.15
$32,987.69
$59,075.93
$105,795.99
$189,464.51
$339,302.08

daily compounding and yearly compounding
== daily compounding == yearly compounding
$500,000.00
$400,000.00
$300,000.00
$200,000.00

$100,000.00

$0.00

8. Use a spreadsheet to answer the following question:

Alice deposited $2498 into an account paying 7.05% APR, compounded quarterly. Bob
deposited $2994 into an account paying 5.19% APR, compounded monthly. How many
years will it take for their balances to (nearly) match?

#3

P r
Alice 2498 0.0705
Bob 2994 0.0519

t Alice Amount
$2,678.82
$2,872.73
$3,080.67
$3,303.67
$3,542.81
$3,799.26
$4,074.27
$4,369.19
$4,685.46
10 $5,024.62
11 $5,388.33
12 $5,778.37

0 N OO g b~ WN =

©

n

4
2

-

Bob Amount
$3,153.14
$3,320.74
$3,497.24
$3,683.13
$3,878.90
$4,085.07
$4,302.20
$4,530.87
$4,771.70
$5,025.33
$5,292.44
$5,573.75

It udll tadee 210 genr<.

9. Which is better: an account that earns 7.25% compounded quarterly, or an account that
earns 7.15% compounded daily? Give the effective rate (that is, the effective annual interest

rate) for each account, and explain your answer

#9

P r
QRN 1
Bod~ 1

0.0725
0.0715

t A IIP = (A-P)/P
4 1 $1.074495 7.45%
365 1 $1.074111 7.41%

The effechive e for the [ occouwnt is ~9ES
ord e wpad s # %, S fa Poer ke s betht
W WAk e increard H o] CompBumbing: for e 2

OLC. CDunlr-
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